
Professor Katiraie MAI03 Quiz 7 (20 Pts) 

Name polv.::l~Y'-

1. Perform the indicated operations. Simplify your answers. 

a.(3~F7) 
- 12 + '2n-'2.o ff -2-0(7) 

_ \2. -~n' - \tf-a-
=~J 

b. 3J20 - 5$+ J45 Hint: change to like radicals. 

~
~

~{Lt{5 -;;V'S + (f(5 

~ 6f5 - s-J5 +-3€ 

=J::®~ 
c) (3+2~) 

\2-~V3-+<zfl_bC'3) p 

= \'2.- - \{3 - \~ c: .~\~ 

~ 
d). (3+5~J7) 

Iz. + \'2-ff -\- '2.·t)fl -r '2,0 ( 7) 

::= \'2. +- '31.,f'f -+ I~Q == ~~ 

I 



2. Simplify 

b. ~5 - {$ -" .5!Jv-:J ff - ­s:-

c. 3.J20 -7~+.[5 

c: 3~J5 - 7{7f ff + {f 

:: Co {? - 2.\ 3 -\-{S == 

3. Simplify .' 

b 5~-~ ~if~J 

'S+-'L
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=--;!J 0« '[r! 
4. Simplify. 
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a)- •
 b) 3.J20 -7~ +.[5.Jl5 

e;::. bg-2/.[5+8 
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